
Swing above 

and below 

from left 

end point. 
Swing above 

and below 

from right 

end point. 

How do you bisect a segment 

 

1st Set your compass at a width that is more than half the length of the segment 

and swing and arc above and below the segment from both endpoints. 

 

 

 

 

 

 

 

 

 

 

2nd  Connect the intersections of the arcs.  That segment is the bisector, in fact, 

it is a perpendicular bisector. 

 

 

 

 

 

 

 

 

 

 

 

You try! 

Bisect the segment below. 

 

 

 

 

  
 

 2 equal 

parts 


